





Billing date: (71/04/16		Read cycle: 20	,	Page 001 o	f 003
		er er	oner Veter Sum	mairy		
Meter Number	Read Date	Prior Read Date	Number of Days	Meter Reading	Prior Meter Reading	Total KWH
ST LIGHTS	12/30/15	11/28/15	32			
Prior bala Paymer Balance fo New charg	nts received through (prward		ecount Summar	1	\$27,835.85-	\$27,832.85 \$3.00-
	ity Delivery: Central	Maine Power (see o	detail below)		\$27,834.29+	\$27,834.29
Current Acco	unt Balance:	Plea	se pay before 01/31/	16		\$27.831.29

Central Maine Power Delivery Service Account Detail

Prior balance for Central Maine I	Power delivery		\$27,832.85
Payments received - thank you Balance forward			\$27,835.85- \$3.00-
Current delivery charges Delivery Charges: Street Lights			
Sodium Cut Off 70W		640.76	
	453 units @	* .	\$770 AC.
Delivery Service	453 units @		\$779.16+
Lighting Equipment	453 units @		\$4 ,095.12+
Mercury Open 100W	1 unit @	•	\$0.40.
Delivery Service	1 unit @	\$2.18	\$2.18+
Lighting Equipment	1 unit @	\$8.40	\$8_40+
Mercury Open 175W	1 unit @	\$12.94	*
Delivery Service	1 unit @	•	\$3.70+
Lighting Equipment	1 unit @	1	\$9.24 +
Sodium Enclosed 50W	8 units@	\$9:21	
Delivery Service	8 units @	\$1.17	\$9 · 36+
Lighting Equipment	8 units @	\$8.04	\$64_32+
Sodium Enclosed 70W	169 units @	\$10.04	
Delivery Service	169 units @	\$1.72	\$290.68+
Lighting Equipment	169 units @	\$8.32	\$1,406.08+
Sodium Enclosed 100W	19 units @	\$11.07	• • • • • • • • • • • • • • • • • • • •
Delivery Service	19 units @	\$2.33	\$44.27+
Lighting Equipment	19 units @	\$8.74	\$166.06+
		+-···	Please see next page for continued detail information.

Central Maine Power Delivery Service Account Detail

(continued from previous page)

Certificat	Minima			
Sodium Enclosed 150W Delivery Service Lighting Equipment Sodium Enclosed 400W Delivery Service Lighting Equipment Sodium Flood 400W Delivery Service Lighting Equipment Sodium Open 70W Delivery Service Lighting Equipment Hald Spc Grnvl L 175W Delivery Service Lighting Equipment Sodium Cut Off 250W Delivery Service Lighting Equipment Sodium Cut Off 250W Delivery Service Lighting Equipment Sodium Enclosed 250W	71 units @ 71 units @ 71 units @ 71 units @ 6 units @ 6 units @ 11 units @ 11 units @ 11 units @ 3 units @ 3 units @ 57 units @ 57 units @ 57 units @ 29 units @ 29 units @ 29 units @ 164 units @	\$22 .24 \$18 .40 \$5 .42 \$12 .98	\$248.50+ \$648.94+ \$50.16+ \$79.62+ \$91.96+ \$148.72+ \$5.16+ \$24.63+ \$216.60+ \$1,267.68+ \$157.18+ \$376.42+	l information.
Souldin Fliciosed Foats			2 10000 000	

Customer information for your delivery service

Delivery rates are as approved by the Maine Public Utilities Commission. For bills that cover both electricity supply and CMP delivery, CMP forwards energy-supply payments to the appropriate energy provider. For a schedule of CMP delivery rates, call 1-800-565-3181, or visit www.cmpco.com on the Internet. Our TTY number for the deaf is: 1-800-445-5631.

CMP's delivery role under Maine law

The State of Maine changed the electricity-utility business as of March 1, 2000. The law now separates electric supply from its delivery. You may choose a competitive energy provider, or automatically take energy from the Standard Offer provider. CMP no longer generates electricity. We operate the system that delivers your electricity, and we service your account.

To ask a question or dispute a bill, you can call 1-800-565-3181 or e-mail customer.service@cmpco.com, or write to CMP Customer Service, 83 Edison Drive, Augusta, ME 04336.

Planning a move?

Please let us know. You are responsible for any usage at your billing location until you tell us the account should be closed.

Payment arrangements

If you have trouble paying your bill, a payment plan may help. Call 1-800-565-3181 for more information.

Late-payment charge

Bills are due on receipt. A late charge of 0.892% will be applied each month to balances unpaid after 25 days from bill postmark.

To report an outage

Call 1-800-696-1000. If call volume is heavy, an automated system will log your call and generate a repair order.

Sales-tax exemption

Maine sales tax does not apply to the first 750 kilowatt-hours (KWH) of residential usage.

What's a kilowatt-hour?

Electric power is measured in watts. 1000 watts of power used for 1 hour is a kilowatt-hour (KWH) of energy. Example: a 100 watt bulb lit for 10 hours uses 1 KWH of energy.

When we cannot read your meter, we will estimate your usage for the month. You have the right to read your own meter. Call us at 1-800-565-3181 or visit www.cmpco.com for more information.

Central Maine Power Delivery Service Account Detail

(continued from previous page)

a de d				
Delivery Service	164 units @	\$5.42	\$888 88+	
Lighting Equipment	164 units @	\$11.64	\$1,908.96+	
Sodium Cut Off 70W	983 units @	\$10.76		
Delivery Service	983 units @	\$1.72	\$1,690.76+	
Lighting Equipment	983 units @	\$9.04	\$8,886.32+	
Sodium Cut Off 100W	23 units @	\$11.45		
Delivery Service	23 units @	\$2.33	\$53 .59+	
Lighting Equipment	23 units @	\$9.12	\$209.76+	
Sodium Flood 250W	2 units @	\$17.49		
Delivery Service	2 units @	\$5.42	\$10.84+	
Lighting Equipment	2 units @	\$12.07	\$24.14+	
Sodium Cut Off 150W	64 units @	\$13_61		
Delivery Service	64 units @	\$3.50	\$224.00+	
Lighting Equipment	64 units @	\$10.11	\$647.04+	
Sodium Čut Öff 400W	22 units @	\$23.37		
Delivery Service	22 units @	\$8.36	\$183.92+	
Lighting Equipment	22 units @	\$15.01	\$330 .22+	
Sodium Cut Off 50W	7 units @	\$10.84		
Delivery Service	7 units @	\$1.17	\$8.1 9+	
Lighting Equipment	7 units @	\$9.67	\$67.69+	
Sodm Sp Mgse Close-In 250W	16 units @	\$29.00		
Delivery Service	16 units @	\$5.42	\$86 72+	
Lighting Equipment	16 units @	\$23.58	\$377.28+	
Sodium Enclosed 70W	103 units @	\$10.04		
Delivery Service	103 units @	\$1.72	\$177.16+	
Lighting Equipment	103 units @	\$8.32	\$856.9 6+	
Sodium Post Top 100W	8 units @	\$11.45		
Delivery Service	8 units @	\$2.33	\$18.64+	
Lighting Equipment	8 units @	\$9.12	\$72,96+	
Sodm Spc Edison 50W	3 units @	\$19.18		
Delivery Service	3 units @	\$1, 17	\$3.51+	
Lighting Equipment	3 units @	\$18.01	\$54.03+	
Hald Spc Grnvl S 175W	20 units @	\$25 04		
Delivery Service	20 units @	\$3.80	\$76.00+	
Lighting Equipment	20 units @	\$21.24	\$424.80+	
Area lighting			\$57.50+	
Special facilities			\$300.28+	
Delivery Service Charge			\$5,321.12+	
Lighting Equipment Charge			\$22, 155.39 +	807 004 00
Total current delivery charges				\$27,834.29
Central Maine Power account balan	ce			\$27,831.29

Please see next page for important information.



CNE CUSTOMER ID NE_1638

STATEMENT NO. 0029895788

PAGE 1 of 3

CNE ACCOUNT ID 1-MBD-3704

STATEMENT DATE 01/05/2016

DUE DATE 01/26/2016

For questions or comments, please contact Customer Care at (888)635-0827 Monday through Friday 7:00 am to 6:00 pm Central Standard Time, or email us at customercare@constellation.com

When contacting Constellation, please reference the CNE ACCOUNT ID found at the top of this page

TOTAL AMOUNT DUE	\$19,291.94
CURRENT CHARGES	\$10,020.71
LATE/FINANCE FEE	\$30.38
DEBITS/CREDITS SINCE LAST INVOICE	\$0.00
PAYMENTS SINCE LAST INVOICE	\$0.00
PREVIOUS BALANCE	\$9,240.85
PREVIOUS STATEMENT DATE	12/05/2015
ACCOUNT BALANCE	

21150-60400

WIRE TRANSFER INFORMATION Constellation NewEnergy, Inc ABA-ACH #111000012, ABA-WIRE #026009593 ACCT #4426223690 **BANK Bank of America**

REMITTANCE ADDRESS.
Constellation NewEnergy, Inc.
14217 Collections Center Dr.
Chicago IL, 60693-0142

	January						
	S	M	T	W	T	F	S
			-			1	2
	3	4	5	6	. 7	8	9
Payment Due	10	11	12	13	14	15	16
	17	18	19	20	21	22	23
	24	25	26	27	28	29	30
	31						



Biddeford ME City of

CNE CUSTOMER ID NE_1638

STATEMENT NO. 0029895788

PAGE 3 of 3

CNE ACCOUNT ID 1-MBD-3704

STATEMENT DATE 01/05/2016

DUE DATE 01/26/2016

SITE NAME SERVICE LOCATION City of Biddeford - 04430113193011

Street Lights

Biddeford, ME 04005-0000

CMP ACCOUNT ID **CNE INVOICE ID**

04430113193011 0029895788-0001

kWh

134,687.00

SERVICE PERIOD

11/29/2015 to 12/30/2015

Fixed Price PRODUCT



Contract Charges	Quantity	Contract/Market	Rate	Amount	
Energy Charge Non TOU	134,687.00	kWh at 0.0744000	\$/kWh	\$10,020.71 [°]	
Subtotal Contract Charges				\$10	020.71
Market Charges	Quantity	Contract/Market	Rate	Amount	
Capacity Charge \$/kW Day 11/29/2015 - 11/30/2015 (Capacity Tag 0 kW x Reserve Margin 1.43851 x Residual Adj 1 x 2 Days x Capacity Price)	0.00 kV	V Days at 0.1073713	\$/kW Days	\$0.00	
Capacity Charge \$/kW Day 12/01/2015 - 12/30/2015 (Capacity Tag 0 kW x Reserve Margin 1.44194 x Residual Adj 1 x 30 Days x Capacity Price)	0.00 kV	V Days at 0.1032524	\$/kW Days	\$0.00	
Subtotal Charges from Constellation Ne	wEnergy				\$10,020.71
Charges from Late Fees and Finance				Amount	
Finance Charges				\$30.38	
Subtotal Charges from Late Fees and Fig	nance Charges				\$30.38